
Тест из енглеског језика на пријемном испиту у филолошким гимназијама и 

одељењима 

Јуни 2016. 

 

РЕШЕЊА 

 

I READ THE TEXT AND CHOOSE THE CORRECT ANSWER BY CIRCLING THE 

LETTER IN FRONT OF IT.                                                   (5 x 2 points = 10 points) 

 

1.d)               2.b)              3.b)               4.c)                5.a) 

 

 

II READ THE TEXT. THEN CIRCLE THE LETTER (a, b, c or d) IN FRONT OF THE 

ANSWER WHICH YOU THINK BEST FITS EACH SPACE.   (20 x 1 point = 20 points) 

 

1.d)        2.c)         3.b)        4.c)       5.b)       6.d)       7.c)        8.d)        9.d)          10.a)  

11.b)       12.c)         13.b)      14.a)      15.d)      16.b)      17.a)       18.c)     19.d)      20.c) 

 

 

III READ THE TEXT FIRST. THEN WRITE THE CORRECT FORM OF THE WORD 

IN BRACKETS IN THE SAME LINE.                                          (10 x 1 point = 10 points) 

 

1)lightning         2)scary           3)another            4)afraid / fearful / frightened / afeared 

5)powerful         6)dying           7) more           8)alive          9)different         10) coming 

 

 

IV READ THE TEXT BELOW AND THINK OF THE WORD WHICH BEST FITS 

EACH GAP. USE ONLY ONE WORD IN EACH GAP. FOLLOW THE EXAMPLE (0). 

                                                                                               (15 x 1 point = 15 points) 

 

1)a        2) up          3) to / near            4) at           5)of / about         6) each        7)in         8) not 

9) is       10)the        11) be        12) who / that       13) me       14) doesn’t / can’t         15) the 

 

 

V READ THE TEXT FIRST. THEN FILL IN THE APPROPRIATE FORM / TENSE OF 

THE VERB IN  BRACKETS IN THE ACTIVE OR PASSIVE VOICE. PAY ATTENTION 

TO THE WORD ORDER. DO NOT ADD ANY OTHER WORDS.          (22 x 2 points = 44 

points) 

 

1)is thinking / thinks        2) to see        3)works         4) causing         5) set / had set        6) put          

7) had already taken         8) wanted            9) become          10) didn’t / couldn’t succeed            

11) were planning / planned         12) wasn’t / was not / isn’t / is not        13) laid / were laying 

14) haven’t eaten           15) disappeared          16) think           17) to punish         18) live / be 

living      19) hadn’t been       20) seeing / having seen       21) freed / had freed         22) spend 

 

 



 

 

VI COMPLETE THE SECOND SENTENCE SO AS TO GET THE SAME MEANING AS 

IN THE FIRST SENTENCE                                                     (5 x 1 point = 5 points) 

 

1….to see…. 

2….am I… 

3….didn’t / couldn’t… 

4….doing / having done / (that) I did … 

5….marrying Miranda…. 

 

 

VII WRITE THE FOLLOWING SENTENCES IN THE PASSIVE VOICE 

                                                                                           (4 x 2 points = 8 points) 

1.How many plays were written by Shakespeare? 

 

2.This play hasn’t been read by our students yet. 

   This play hasn’t yet been read by our students. 

 

3.This comedy wasn’t accepted well (by people) at first. 

   This comedy wasn’t well accepted (by people) at first. 

 

4.Who are those famous words said by? 

 

 

VIII WRITE THE FOLLOWING SENTENCES USING REPORTED SPEECH 

                                                                                           (4 x 2 points = 8 points) 

 

1.I wonder if all high school students can answer that question. 

 

2.The foreign teacher asks our students if they / we read Hamlet at school. 

 

3.We’d like to know where Shakespeare spent his childhood. 

 

4.Mrs Jones wishes her (dear) students to enjoy reading Shakespeare’s dramas. 

 

                                                                                                    Укупно: 120 поена 

 

                           

 

 

 


